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NO. X BT & B8 miE(m) [BL-FTUHE k=
1 HX KFHH H 275 | L=
2 RRX KFHH H 1,186 | BLTf=L»
4 RX AFEEES H 1216 | £55TH
11 i X BRII4ATH i 650 | FEYf=L>
12 BRRX RFINEKR H 1,530 [ FEYF=L
13 BRRX RFINEXR H 1,365 [ FEYUf=L>
14 BRRX RFINEKR H 60 | FEYUT=LY
15 BRRX RFINEKR H 1,390 [ FEYF=L>
21 [ic] =3 BES H 204 | £B55TE
26 [ =3 5iE H 651 | STzl
34 iz =3 KFEH H 1,239 | EB55TH
44 | BRR ER3TH I 226 | FEYT=L>
46 | BRRR ER4TH I 135 | FEUTzLY
47 | BRRR ER4TH 52| 1,555 | SEYf=Ly
52 [ic] >3 ?j’%ﬁé&? H 1,553 | FEYf=Ly
53 L] =3 ?j’%ﬁé&? M 757 | FEYT=LY
57 L] =3 ?j’%ﬁé&? M 373 | FEYf=Ly
58 L] =3 ?j’%ﬁé&? M 408 | FEYf=L>
59 RX EHEATH Pl M4 | EBH5TEH
63 BRRX KFh H 1,037 [ FEYF=LY
64 [ =3 KFEH H 1,100 [ FEYF=L>
65 [ =3 KFEH H 1,764 | FEYT=L>
73 [ic] >3 f"j(“;gg J?'?) H 466 | FTYF=L)
o1 | mR | PAERZIH m 1026 | £55TH
2 | mR | PAEZTH m 078 | EBETE
95 iz =3 5iE H 336 | EBH5TEH
96 BRRX KFh H 1,788 | FEYUf=L>
103 [ic] =3 KFXR H 1,507 | £EB55TH
105 [iz] =3 KFEH bl 1,428 | 5EYT=L>
106 ic] =3 BES H 286 | FEYUT=Ly
107 ic] =3 BES H 651 | STzl
109 iz =3 KFFIREF Pl 402 | LTz
110 ax ?j’%ﬁé&% X 585 | £EH5TH
111 RRX ZF3TH H 1,142 | ELf=L»
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119 | BEER P NEaic| H 1,050 [ FEYF=L>
120 | BEER KFh H 1,806 [ FEYUf=L>
121 | BEER KFh H 1,723 | FEYUf=»
126 ic]=3 BES H 766 | SEUT=LN
133 [ =3 5iE H 1,983 [ FEYUF=L
134 | BEER KFh H 866 | StUT=L>
135 ic]=3 BES H 267 | FEYUT=LY
136 [ic] =3 ANERR1TH H 715 | £EB55TE
140 | BEER KFh H 1,045 [ FEYF=LY
145 | BERER RKFEE H 3,837 | FEYL=Ly
146 | RERER RKFEE H 127 | 5EYF=LY
147 | BRERK RKFEE H 22 | FEYTF=L
148 | BRRERK RKFEE H 287 | FEYT=LY
149 | BRRERK RKFEE H 1,248 | 5EYUT=L>
150 (=S (;;‘(J%ZEI J?'?) H 958 | FEYf=L»
151 iz =3 E?ffé—]b;ﬁ M 961 | FEYf=l>
153 iz =3 KFEH H 829 | EL7T=LY
156 [ic] =3 BES H 208 | £55TH
159 HX fNBs5TH H 66 | STUT=L>
160 [ic] =3 BES H 333 | £EB5TE
165 ic] =3 BES H 436 | FEYT=L>
166 RX Z=%£3TH £2] 102| £55TH
167 iz =3 5iE H 1,176 ELTf=L»
168 [ic] =3 BES H 204 ELF=LY
169 iz =3 KFFE H 1,793| ELFf=L»
170 iz =3 KFFE H 6| EL7=LY
171 [ =3 KFFE H 17 L1zl
175 R KFHH H 1,375 | FEYUf=L>
176 | WX BEHRII4TH bl 596 | £H55TH
178 | BRERK NE6TH 52| 1129 | £E55TE
179 iz =3 KFEH H 175 | ELf=LY
180 iz =3 5iE H 2427 | EB55TE
181 [ic]=3 E(affél;ﬁ H 981 | ELWL
02 | mR | EAEATH 1 001 | EBETE
183 [ic] =3 XF/IH £2] 703 | £55TH
184 [iz] =3 K=F/H g 995 | £B55TH
185 L] =3 5iE H 439 | FEYTF=L
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186 [ic] =3 AERA1TH H 1,080 | ELf=L»
187 L] =3 ?j’%ﬁé&? M 727 | FEYT=LY
191 RRX %F1TH H 2,763 ELT=L»
194 iz =3 5iE H 1,922 ¥55TH
197 | WEER BEHRII4TH bl 655 EL7T=LY
198 HX £F3TH H 1,068| FEYf=L>
199 | BEX AMR4TH 52| 595 ELf=L»
200 [£7]=3 KFHR bl 480| FEYT=L>
201 | BRRE K=FR 52| 1,691 FEYf=L»
202 | BRRE KFh 52| 1,406 £55TH
203 | BRRE KFh 52| 1,153 £655TH
204 | BRRE KFh 52| 694| EB5TH
205 iz =3 KFEH bl 175 EL7f=L»
206 iz =3 KFEH bl 1,339 EL7f=L»
207 ic]=3 A2TH P 140| FEYf=Ly
208 iz =3 KFER H 130| £EB55TH
209 iz =3 RFKERAL H 1,547 E55TH
210 iz =3 RKF=H H 565| £¥55TH
211 [ic] =3 Bed g 1,408 ELT=L»
212 [ic] =3 BES H 1,190 EL7=L»




